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1203 ¥Ry [EH 252 2520 0 2520 10 0 0 0 2376 0 2106
50 20 300 0 300 15 0 0 0 0 3078 0
EE 50 500 0 500 10 0 0 0 2376 0 1296
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Gh 900 129 0 129
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Gh 90 9 0 9
1407 |EBHE L 30 60 0 60 2 0 0 0 2376 0 2268
Gh 30 60 0 60
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& 428 8560 0 8560
1603[tz)L)—  |B%fE 5 50 0 50 10 0 0 0 4104 0 3672
& 5 50 0 50
1609[Z7Ovaly  [FJil 17 102 0 102 6 0 0 0 0 5400 0
& 17 102 0 102
1611[LER Rk 3 15 0 15 5 0 0 0 0 2376 0
S 8 80 0 80 10 0 0 0 3888 0 3456
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1612[H =L AR [ED) 3 15 0 15
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1705+ 4= =5 450 36 0 36 0.08 0 0 0 0 108 0
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#mE 120 24 0 24 0.2 0 0 0 260 0 66
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f=154 150 45 0 45 0.3 0 0 0 0 105 0
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(&) 300 75 0 75
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